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Topic:- General Knowledge and Logical Knowledge

1) Who is the Foreign Secretary of India? / HIRd &I fdw a8
1. S Jaishankar / T SIIRHR

2. Ajit Doval / 3fSitd Siad

3. Sushma Swaraj / JYHT TR

4. Radhika Menon / Te/&T A

Correct Answer :-

e S Jaishankar / T SIORIHT

2) Who is known as ‘Sher-e-Punjab’? / {3 'RR-U-USITE" & ATH | SITHET SIT€T 82

1. Jawaharlal Nehru / STATERATd 783
2. Mahatma Gandhi / FgTET el
3. Lala Hardayal / <fIcll gl

4. Lala Lajpat Rai / <ITcIT elToTUd A

Correct Answer :-

 Lala Lajpat Rai / <Icfl eflslUd XY

3) Who is the Union Minister for Ganga Rejuvenation? / TI¥TT HR&0T & f%I'E S wEf P %'?
1. Uma Bharathi / 3HT YRl
2. Thaawar Chand Gehlot / TR TG T@Fﬁﬁ

3. Ananth Kumar / 3/d $HR



4. Radha Mohan Singh / JTYT g Rig

Correct Answer :-

« Uma Bharathi / SHT HRal

4) 'Mission 41K' has been launched to save energy by / R 41539 Sl g & ﬁl’ll IR
AR forar T g1

1. Ministry of Health / TR HATTT

2. Ministry of Railways / X HAEd

3. Ministry of Petroleum and Natural Gas / ﬁ'@ﬁﬂm ud chpi?ich T T
4. Ministry of New and Renewable Energy / A 3R ety SHulf e

Correct Answer :-

* Ministry of Railways / X HAEd

5) How many 4-digit numbers can be formed with 1, 2, 3 0, 8, which are divisible by 102 / 3{@®1 1, 2, 3 0,

8, | 4 3fp arelt T} fopa-it Tt fAfifa g el & ot 10 ¥ HSu 82
1.6
2.24
3. 12

4. 18

Correct Answer :-

6) Which game is the state-sport in Madhya Pradesh? / m | W-ﬁﬂ@j T %?
1. Kho-Kho / @1-l
2. Volleyball / Aiciiaict

3. Kabaddi / ag!

4, Malkhamb / HAWGH

Correct Answer :-

e Malkhamb / HIGH



7) Which one of the following is the first shipyard of India? / T & | I 91 U HUIRA &1 Ug el uid
WiTToT 32

1. Visakhapatnam / fa=mareg
2. Paradeep / IR

3. Mazagaon / R I

4. Cochin / @A

Correct Answer :-

« Visakhapatnam / faRmamgeq

8) Which is the largest state in India in terms of area? / A F e # YR &1 9 CEIRIS Capkl

87
1. Uttar Pradesh / SR Uc g
2. Rajasthan / TSR

3. Maharashtra / 1:IB'RTE
4. Madhya Pradesh / H¥J PER

Correct Answer :-

» Rajasthan / TSIV

9) Which is the largest cotton growing state in India? / HIRd H P T Id YATU® HUTH BT IATGT
A1 8?

1. Gujarat / 7]SIRTd
2. Andhra Pradesh / 3T/ Q%'(QT
3. Maharashtra / HIRTS¢

4. Madhya Pradesh / H&] o

Correct Answer :-

e Gujarat / I[oIRId

10) Which of the following constructions in Madhya Pradesh has NOT won the Aga Khan Award for
Architecture? / FrHIfRd § @ ford ToAT A agean (Snfheamr) & forg 3mm @ RS R =81 Siiar
87

1. Aranya Community Housing, Indore / 3IR0J W g3 R I, $é|€



2. Vidhan Bhavan, Bhopal / faym™ HdH, Hiard

3. Slum Networking, Indore / ¥cTH :ICOII?O‘I, $'<fli

4. Vallabh Bhawan, Bhopal / d¢qiH HdH, i)

Correct Answer :-

 Vallabh Bhawan, Bhopal / ¢TI HdH, Hiure

11) Which of these is the smallest ocean in the world? / §-TH I DI 1 §'&ITIT BT I Biel TERINR
??

1. Atlantic ocean / 3cdifcd HeHNR
2. Indian Ocean / %_CT HENR
3. Arctic ocean / 3hich IR

4. Pacific Ocean / UL0id HENNR

Correct Answer :-

« Arctic ocean / 3{Theh TR

12) Known as a great humanist, was the eldest son of Mughal emperor Shah Jahan. /

_ O S1eRITE WTE el & 98 ¢ 3, R o 9eT Aaarard) & 0 & ST Sire o |
1. Dara Shikoh / GRT R1b1g

2. Akbar / 3SR

3. Aurangzeb / 3RITIE

4. Shah Shuja / T8 el

Correct Answer :-

e Dara Shikoh / GIRI |§I$|6

13) Davis cup is awarded to: / sfasud 3% T fosar srar %:
1. Countries / GRII

2. Zones / ST

3. Individuals / ST

4, Districts / ﬁl?‘ﬁ

Correct Answer :-



e Countries / %Qﬁ

14) If eraser is called pencil, pencil is called box, box is called sharpener, sharpener is called bag, what
does one write with? / qﬁ eraser B pencil Byl SITdl %, pencil @1 box CZARSIGH %, box BT sharpener Pgl
SITdT 8 3R sharpener B bag $E1 AT 8, A BIS fPIP! TeTadar 9 fora gwar g2

1. box
2. bag
3. eraser

4. pencil

Correct Answer :-

e box

15) Dispur is the capital of: / ﬁ'\‘l’ﬂ? FH®! IS &
1. Tripura / ?Igi

2. Arunachal Pradesh / 375U U g

3. Manipur / HIOTQY

4, Assam / 3HH

Correct Answer :-

e Assam / IH

16) Pt. Uddhavdas Mehta Vaidya Shastri Ayurved Sewa Samman 2017 was conferred by the Madhya
Pradesh government on / ¥ USRI IRPR GRT U. SHxaerd Hedl fae ! SRde a1 T 2017
= = W we far

1. Government Dhanwantri Ayurvedic Hospital / PRI Ydai &Tﬂﬁ% S drel

2. Pt. Khushilal Sharma Ayurveda College, Bhopal / U. '@Qﬂﬁm Bl @ﬂ'ﬂa‘_t‘: ﬁﬁ\_ﬂ, T
3. Mandsaur Institute of Ayurveda / &rrgﬁ?: 1 HEUR SHKee

4. Pt. Shivnath Shastri Ayurveda College / U. RIgATY et e«rrgé"c: CAN]

Correct Answer :-

« Pt. Khushilal Sharma Ayurveda College, Bhopal / . '@Qﬂﬁm Bl @ﬂ'ﬂa‘_@: CANERYI]



If you were visiting Mawsynram the wettest place on Earth by annual rainfall, which state would you be

%%/ﬁmmw%mmﬁmﬁﬁwﬁwm@%ﬁmmwﬁ
1. Tripura/ﬁ'ERT

2. Manipur / HfO0IqR
3. Meghalaya / HETeI

4. Nagaland / -l e

Correct Answer :-

e Meghalaya / | G}

18) Who took over as the President of the International Economic Forum in June, 2017? / ¥, 2017 |

=gty anfdfe wa & sremer o1 uq fraa e
1. Kaushik Basu / ®I1R1& oy

2. Raghuram Rajan / XYTH M4

3. Amartya Sen / 3 I

4. Jagadish Bhagwati / SHTGTRT YTt

Correct Answer :-

« Kaushik Basu / ®IR® a9

19) The temple of Shri Mahakaleshwar is situated in the south-western part of city. / st

HETHTARGR TifeR, B & gieof-ufdnd & fRa g1
1. Ujjain / IS0

2. Indore / 3AR

3. Omkareshwar / 3{IBIRIIR

4. Khajuraho / @\_{Rﬁ}f
Correct Answer :-
e Ujjain / IS0

20) Kancheepuram Silk sarees are native to which state? / Wm HT%TIT foa =g ot ﬁa'r{‘«fﬁ
2

1. Tamil Nadu / dHQHTg



2. Karnataka / BIcH
3. Andhra Pradesh / 31T¢J Q%QT
4. Kerala / Hd

Correct Answer :-

e Tamil Nadu /d ﬁaqlg

21) In a simultaneous throw of two dice, what is the probability of getting a total of 6? / TP HIY Eﬁw

B H 6 S TRT TS e 31 B THTTHT T 82

5
36

|~

=t
o= [

o |

Correct Answer :-

e
o

22) M is elder than R but not as old as L. L is elder than N and K. N is younger than R but not the

youngest. Who is the fourth in order of the age? / MﬂﬁxﬂTﬁRﬁ\’dﬁlﬁ %WL@W T-I'{ﬁ%I L
aﬁsrrgg&ﬁvKﬁsrf‘w%l N &1 3T R A $U § AP 98 T4 DieT 81 81 3T & HH § YT AR

1.R
2. M
3.L

4.N

Correct Answer :-

« N



23) If TOGETHER is coded RQEGRJCT, then how is FLOWER coded? /qﬁ TOGETHER &1

RQEGRJCT ¥ SIfEd forar itar 8, @ FLOWER &1 3 Sifed forar s
1. DMNYCT
2. DNMXCT
3. DNMYDT

4. DNMYCT

Correct Answer :-

e DNMYCT

24) First CM of Madhya Pradesh was ./ AT USRI & UYH 'ﬂ'@Tﬁﬂ Of

1. Sanjay Jagdale / Horg STeT
2. Jayant Mallayya / STdd T

3. Anup Kumar / 3JU pHR
4. Ravishankar Shukla / TR PICH]

Correct Answer :-

« Ravishankar Shukla / IR Yok

25) New political parties in India are accorded recognition by L HURAH 7'|€ HERIIGED

adl a1 aRT Wipfa § ot 2|
1. Election Commission / g-1d S{TRT

2. Vice-President of India / HRd & B'CITIECI'I%T

3. High Court / 3= AT

4. Prime Minister of India / HTRd &b UUTTHA]

Correct Answer :-

 Election Commission / g-1d S{TRT

26) Choose the number which is different from others in the group: / 3 J&AT BT IAT g | qqg |
A = 8:



29, 53, 85, 125
1.29

2. 125

3.53

4. 85

Correct Answer :-

27) Complete the series choosing the missing number: / W J&AT JAHR y@aT Cal Pl PifoTT:
1,3,4,8,15,27,

1. 50

2.37

3.55

4. 44

Correct Answer :-

28) Complete the series choosing the missing number: / T IBAT TAB YT Bt GRT HIOIC:
2,7, 22, , 202

1. 67

2. 68

3. 62

4. 60

Correct Answer :-

e 67

29) Complete the series choosing the missing number: / T JBAT TAB YT Bt GRT HIOIC:
2, 15, 41, 80,

1. 111



2.132
3. 120

4. 121

Correct Answer :-

e 132

30) The series given below contains a sequence of numbers. Identify the incorrect

combination: / - & ¥ e #, WS HT UH HH IUFRG T | TAd Ao UgAIe:
10, 18, 34, 68, 130, 258

1. 68

2. 18

3. 130

4. 258

Correct Answer :-

31) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 3 & T yraen #, WM BT TS HH IUTRIT &1 Ted HUIST UgAIg
25, 26, 24, 27, 28, 36

1. 24

2.36

3.28

4. 26

Correct Answer :-

32) Complete the series choosing the missing letter/s: / Ul SER/HERT B EGEZELERI G| Ul PIfoT:
ab_aba b
l.a,a,a

2.a,b,b



3.b,b,b

4.b,a,a

Correct Answer :-

e a,a,a

33) Select the option that is true about the Statements and Conclusions given:
Statements:

All chairmen are members

All directors are members

Conclusions:

I. All chairmen are directors

I1. Some chairmen are directors

1 39 fapeu &1 99 FIoE Sife R ey iR FAepuf F aR A T 8 :
DY-:
Taft sremer wew §

|t e Sew €
e

1. Wt aremer P ¥
1L $ Jeae ez §

1. both conclusion I and II follows / B 1 3R 11 G IR Y %

2. only conclusion II follows / $Had FpY 11 IR HdT g

3. only conclusion I follows / &Had FpY 1 S{FERUT pdl g

4. neither conclusion I nor conclusion II follows / 71 & fsewd 1 3R 1 g fFApef 11 S{FERUT A G

Correct Answer :-

« neither conclusion I nor conclusion II follows / 1 B} &R Y 1 3R 7 81 Fshd 11 S[IXRUI HRd &

34) Select the option that is true about the Statements and Conclusions given:
Statements:

All prisoners are jailor

No jailor is a curator

Conclusions:

I. No prisoner is a curator

I1. All prisoners are curators



39 fapey &1 994 Sifoe wife fer e syAi iR fAspui F aR A 9d 8 -
DY:

gt R g

ﬁ%ﬁmﬂqﬁwqﬁ%

L ﬁéaﬂﬁaqﬁaqé’r%
1. 9 et TR §

1. both conclusion I and II follows / ftm® 1 3R 11 AT ST A %

2. only conclusion II follows / $Had Y 11 ST hdl g

3. only conclusion I follows / Had ﬁWﬁI ST W_CIT%

4, neither conclusion I nor conclusion II follows / - gT ﬁwﬂh \3'?|T “ _Eﬁ ﬁ'@b_ﬁf 1T 30T GG %

Correct Answer :-

« only conclusion I follows / Had SHY [ TRV BT §

35) Select the option that is true about the Statements and Conclusions given:
Statements:

Some mugs are plugs

All plugs are rugs

Conclusions:

I. Some rugs are mugs

I1. No mugs are rugs

1 39 fapeu &1 991 FIoE Fife R e Hy= iR FAepuf F aR A T 8 :
DY-:
PO WG

gt @ g
e

L. P ATHITE

IL. IS AT W 81 &

1. both conclusion I and II follows / fISBY 1 3R 11 G IR Y %

2. only conclusion II follows / Had FpY 11 TR0 HdT g

3. only conclusion I follows / &I FThY [ ST IRAT

4. neither conclusion I nor conclusion IT follows / 7 & fswd 1 3R 1 g fFAepef 11 S{FERUT A G

Correct Answer :-

« only conclusion I follows / Ha HY [ TRV BT §



36) Select the option that is true about the Statements and Conclusions given:
Statements:

No blots are clots

Some blots are floats

Conclusions:

I. No blots are floats

I1. Some blots are floats

1 39 famed &1 9991 FIOE SifP R Tg = iR Fepuf IR A T g :
DY:

IS U YFH T ¥

O YT U §

ﬁ'ﬁﬂf:

1. B8 g YT T8 &
L. $3 Y YTht

1. both conclusion I and II follows / ftm® 1 3R 11 31T ST A %

2. only conclusion II follows / $Had Y 11 ST pdl g

3. only conclusion I follows / Had ﬁWﬁI ST W_CIT%

4, neither conclusion I nor conclusion II follows / - gT ﬁwﬂh \3'?|T “ _Eﬁ ﬁ'@b_ﬁf 1T 30T A %

Correct Answer :-

« neither conclusion I nor conclusion II follows / -1 81 fAtept 1 3R 1 €t w11 S{FERUT A G

37) Find the odd one out: / Th faus ITd Hﬂ'ﬁrl'l'{:
125, 343, 1331, 2197, 3375

1. 1331

2.343

3. 3375

4. 2197

Correct Answer :-

e 3375

38) In a certain code language, massage is relaxing means loc pit tom, and tom jab nim means
exercise is taxing, exercise and massage means pit pon jab. Which is the word for taxing in that
code language? / T W PIS HIHT ff, massage is relaxing &I 3% loc pit tom; tom jab nim &1



31 exercise is taxing dYUT exercise and massage &1 3 pit pon jab LG ELl PIS YT |
taxing & forQ {54 2reg &1 AT v T 82

1. mot
2. nim
3. jab

4. tom

Correct Answer :-

39) If BULLETis coded LUBTEL, then how is PELMET coded? / Uf¢ BULLET 9 LUBTELQ ®ifsd
g wiTan @, Y PELMET &) $A Sifed foar wmamm?

1. LEPMET
2. LEPTEM
3. LETPEM

4. MEPELT

Correct Answer :-

e LEPTEM

40) If PLASTICis coded CITSALP, then how is REVIVER coded? | Gfe PLASTIC &) CITSALPA
PIfed far &iraT 8, O REVIVER &1 $A Sifsd fhar S

1. VERVIER
2. VIRVIER
3. REVIVER

4. RIVER

Correct Answer :-

e REVIVER

Topic:- Mental Ability and Mental Aptitude

1)



In the sequence shown below, which figure comes next? JAE B O & & el 3-1'@% Hia dr

O
ole
O

E
-]

OO0
000
0ee

ol 19
o000
ol 1

Q[}[ﬁ}
0ee
oy I

OO0
o000
000

4.

Correct Answer :-

ol 19
!..
ol 19

2) B2

If ”\"{g = 24517 , then the value of m correct to 3 decimal places will be: J afe *-"{E = 24517 :
-2
ar B+2 13 gemed wEt a@ TE AR QT
1. 0.092
2. 0.096
3. 0.080

4. 0.101



Correct Answer :-

e 0.101

3) In the sequence shown below, which figure comes next? /=i 83 T A A, el Bﬂ?ﬁﬁ Fia dr
HAER

\O/ \E__; /T\ 4

Correct Answer :-

21N

“J

Y Simplify: /el Eﬁi-si +1l;;l_i =7
g T ST

0
=

21

37



4.3

Correct Answer :-

5) A cartakes 5 hrs to cover a distance of 300 km. How much should the speed in kmph be maintained to
cover the same distance in éth of the previous ime? / Udh &1{ &I 300 f&AT &1 {fl’ H T T

# 5 O & TAT @ 31 A 9fd der F A are g afee afF @@ s $ éthﬁ'
ST G Y R e ST W “

1. 50 kmph

2. 45 kmph

3. 75 kmph

4. 60 kmph

Correct Answer :-

6)



Correct Answer :-

7) If the following two squares shown below overlap, which one of the following options is formed? / T
e a1 @91 Afaenfug g £.91 9 7 & &9 @1 & fdeed a1 &

® g

*

h

e
n]z[ull
2 <>F-¢
ol
N
Ol
N —

Correct Answer :-

8) Ten men earn Rs.200 per day. Find the average money earned per day by the 10 men when the money
earned by 5 of them is doubled and other 5 of them is halved. / 10 Y=Y Uﬁfﬁ:{ 200 SUY mﬁ?.l 10



gl gRT Ufd a1 3ifStd Y=RTIRT o7 S JTd oY Sdfcs 376 A 5 §RT 3ifold Y=RTRI T iR
3T 5 GRT Sifefe Y=y Snreft 31

1. Rs.200 / 200 3T
2. Rs.220 / 200 4T
3. Rs.210 /210 39T

4. Rs.250 / 250 ST

Correct Answer :-

« Rs.250 /250 3T

9) Ram is older than Shyam by 6 years. If 9 times the age of Ram is equal to 10 times the age of Shyam.
Find the age of Ram. /X1, A A 6 TH FST 8| AR IA B MG FT9 TN AH B MM F 10 [A S
ISR ¢ ) T B} 3 1 B |

1. 45
2.12
3.27

4. 60

Correct Answer :-

e 60

10) A person has to complete a journey in 10 hr. He travels first half of the journey at the rate of 10 kmph,
and second half at the rate of 12 kmph. Find the approx total journey in km. / T fad &l 10 U A AT

T B gt 1 9t welt seht amam 10 feht wfa ger g A v gt seh A 12 feh wfy Her F
AT A Y3 BT & | AU $ AT Y {Ht T g B3|

1.150 km / 150 foHt
2. 100 km / 100 ot
3.120 km / 120 foet

4.110 km / 110 foet

Correct Answer :-

e 110 km /110 fop#t

11) A fruit seller bought 12 dozen oranges at Rs. 16 per dozen and an equal number at Rs. 15 per dozen. He
sold them at Rs. 15.75 per dozen .What is his loss or gain percent? / Udh Thcl fagar= 12 Eﬁqw 16



UL Ufd gold &1 ¥ § WIS 3 Id 81 ol ok 15 IUY Ufd goid &1 ¥ 9 WIS | 39 36 15.75
ufd golv # g A 99 far| SHeT 819 a1 a1y ufawrd | g2

P
31
1.
1%%
2,
3 g%
3,

4. None of the above / SWRIgd H I ﬁ".—f Tel

Correct Answer :-

1E %

31

12) Find the cost price of a dressing table, if, on selling it for Rs. 1235, the trader gains Rs. 347. /gﬁi"T

T BT HY YeI [Td B9, TS 3H 1235 FUY T S W ATIRY I 347 FULY ST ATH BT 3|
1. Rs. 888 / 888 TUY
2.Rs. 777 / 777 %W
3.Rs. 788 / 788 ¥UY

4.Rs. 877 / 877 W

Correct Answer :-

« Rs. 888 / 888 U

13) A mother is 50 years old and her son is 22 years old. The mother will be twice as old as her son after

__ years./US AT & Mg 50 T4 7 3R 37k T B Mg 22 a9 3| ¥ gy Ot 3R g
BI 3Tg A G BRI

1.8

2.5

3.6

4.4

Correct Answer :-



14) An exhibition had an entry fee of Rs. 120. When the fee was reduced to 30 %, the revenue from the sale
of tickets increased by 25 %. What was the percentage increase in the number of visitors? / Tt u@&'ﬁ A

AR I[P 120 FUY YT| 9IS [P 30% AP B g1 7T dl fedpe & fawma I ure o | 25% 3 g
g3 | 3Tig®| B W= H i 31 ufa=ra @ ur?

1.50.5%
2.82.5%
3.785%

4.46.5%

Correct Answer :-

15) From a survey of factory products P, Q and R, it was found that 230 consumers liked Product P; 62 liked
Product Q; and 48 liked Product R. Among them 24 liked Product P and Q; 59 liked Products P and R; 42 liked
Products Q and R; and 12 liked all three products. What is the total number of products? / PRI m
p,qﬁn%@ﬁ&mﬁwmgw% 230 IYHIHIT, STIG P P UG HRd ¥, 62 STHIEHIT, IATG
Q ! TR HYd Y 3R 48 SUHTHIT, IATE R Bl UG HId A1 ITH A 24 STHIFT, TG p 3R Q FY,
59 SUNIFT, I P 3R R Y, T 42 IUHIFT, ITE Q 3R R BT a7 12 9t i SuHiaran &) wig
Fd A1 IUHFTS B Hol T T 82

1. 427
2. 227
3.527

4. 327

Correct Answer :-

e 227

16) In a can of 80 litres, the ratio of milk to water is 1 : 3. How much milk has to be added, so that the ratio
becomes 3 : 12 / 80 Wiex & U f&&d H, gU T UM A U 1: 3 8| a1 g 50 firaman wirg
fora fop arqure 3: 1 g WITW?

1. 160 litres / 160 e
2. 60 litres / 60 drex
3. 130 litres / 130 e

4. 210 litres / 210 dle”



Correct Answer :-

e 160 litres / 160 e

17) If five seventh of a number is 15 more than two third of the same number, then the number will be: /

i T W BT 5/7, I TBAT & 2/3 A 15 34w § O H=m i
1. 425.75

2.315.79

3. 887.5

4. 400

Correct Answer :-
e 315.79

18) The average of 11 numbers is 10.9. If the average of the first six numbers is 10.5 and that of the last six
numbers is 11.4, then what is the middle (6th) number? / 11 =130 BT Gﬁﬂﬁ 10.9 %I q'% UYH B¢
T@TSt T 3 10.5 § SR Sifaw o8 T=ms &1 3id 11.4 8, 9 U (@ad)) T=m w1 gl

1. 11.5
2.11.4
3.11.3

4. 11.0

Correct Answer :-

19) The average age of a father and mother is 22 years. Four years hence, the average age of father, mother,
and their son will be 18 years. What will be the age of the son at that time? / T 3R | 91 S S
22 99 g1 IR a9 ugTa e, 9rar 8ik 39% T $ 3N 3y 18 a9 g1t | 39 THY T Y g T
ghft?

1. 3 years /3E|TST
2. 4 years /4EITSf
3. 2 years /zaﬁ

4. 1 years /16@

Correct Answer :-



e 2 years /Zaﬁf

20) A tree 8m in height cast its shadow 5 m long; another tree cast its shadow 25 m long. Find the height of

thetg./wslﬂaﬁﬁsaﬁwsﬁam%; 3G TS 91 BT 25 e g 21 TS B Has
FIGK 2]
1.40 m
2.30m

3.35m

4,25m

Correct Answer :-

21) Ramesh travels from Rampur to Sitapur at a speed of 25 km/h and returns at a speed of 30 km/h.
Suresh travels from Rampur to Sitapur and returns with an average speed of 28 km/h. If Ramesh and Suresh
start at the same time, then who will reach first? /Tﬁ'QT, W'\ﬁ?ﬁw 25 ﬁﬂﬂ/ﬂﬂ CAG IR R
Fdl 8 3R 30 fHft/der &t ara A ara™ 3mar 8 | g1 28 fhwi/eer @) sid o A IR I
HarqR Y AT Hear 8 SR I et 8 1 afe IR 3R GRRI G U § I YR $74 3, o
TEd PI Uga?

1. Suresh /W

2. Both reach at the same time / alqlwwﬁ%‘%ﬁ
3. Ramesh /Tﬁ'QT

4, None of the above / SRIGd 7 I qﬂéqﬁ

Correct Answer :-

e Suresh /w

22) A and B can finish a work in 30 days. If they worked together for 20 days and A leaves the job abruptly;
B completes the given task after 25 days. How many days does B take to complete the work single-

handedly? / A 3R B U &4 @1 30 fa & THTW BT IPd &1 3 TP A1 20 fe7 S Hd & 3R fbr
A SHTT P BYS SA1aT 21 B fod g8 ol &) 25 a1 o qr1 e B 1 fpaq) a0 o arcbann 8 59 1k
P AT P bl 82

1. 60 days / 60 fa
2. 75 days / 75 fa
3. 50 days / 50 fa

4. 45 days / 45 a1



Correct Answer :-

« 75days/ 75 faA

23) A and B together complete a piece of work in 25 days. A alone can do the same work in 40 days. If B
alone works, then how many days will it take for him to complete the task? / A Gﬁ?’ g f<dt wrd &t
THHTY 25 fo1 A RT A3 § 1 3rbar A S &rd Y a0 faY & qR1 B Wapar 31 Afe erbar s 1 &7,
dt 3 BRI B GRT B3 H 39 fopan &1 i

10 days /10 G
1.

] g

Correct Answer :-

7 7

24) Arvind purchased a table at a discount of 10 %. If the table is priced at Rs. 400 how much does Arvind

need to pay? / 3RfdG A 10% B e W TH A &I WIST| T AT B 1 400 T4 & o1 3RfIg Fi
fp =T YITaT B B T &2

1. Rs. 410 /410 3T
2. Rs. 380 /380 U
3. Rs. 400 /400 SUY

4. Rs. 360 /360 TUY

Correct Answer :-

e Rs. 360 /360304

25) The ages of two persons differ by 16 years. 6 years ago, the elder one was 3 times as old as the younger
one. What are their present ages of the elder person? /aﬁatﬂ%rq‘rﬁ S H 16 g &7 GRR'%I 6 dY
Tgd, g § go1 aafa, 3y # B¢ safad A 3 TA1 9T AT| Mg W 98 afad &1 aaq= 31 1 82



1.25
2.20
3.15

4. 30

Correct Answer :-
e 30

26) In a school, 100 boys and 80 girls are examined in a test, 48% of the boys and 30% of girls passed. The

percentage of the total who failed will be: /Wmﬁ, 1ooﬂ3ﬁaﬁ?soa€.ﬁvﬁaﬁwuﬁ&nﬁ
%ri:rna%w%,ﬁﬂﬁw%as%eﬁ?w%amﬁﬂﬁé?ﬂ%lﬁmﬁﬁmﬁmm

1. 60%
2. 65%
3. 70%

4. 55%

Correct Answer :-
e 60%

27) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ o fad M 9 vat ° 9 i fad 1 vd & St s e |1 Te 81 82

Hasso Langholz
Lehmbergerstr. 2,

Damp, 24351

(i) Hasso Langholz
Lehmbergerstr. 2,

Damp, 24351

(ii) Hasso Langholz

Lehmbergerstr. 2,



Damp, 24351

(iii) Hasso Langholz
Lebmbergerstr. 2,

Damp, 24351

(iv) Hasso Langholz
Lehmbergerstr. 2,

Damp, 24351

4. iii

Correct Answer :-

28) The profit on a certain article is 25 %. If it had been bought at 10 % discount and sold
for 20 % more than the earlier cost, the profit would have been Rs. 600. What is the cost
price of the article? / T& fAf3/d axg W @14 25% &1 9f¢ 98 10% Fe W T a1t 8 iR ugad
A o T 20% 31T W = A1l 8, @ ATH 600 FUA BT 8 | I BT 99 Yo T 82

1.Rs. 1,500 / 1,500 T8
2.Rs. 1,000 /1,000 39T
3. Rs. 2,000 /2,000 3T

4.Rs. 1,200 / 1,200 T

Correct Answer :-

« Rs. 1,000 /1,000 ¥0Y

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / <18 &} 7S @@ ®, &R} 3R G=M3H ®1 v wH fAfgd 81 Taa WA vgaie:
i.oipx8012pxio

ii.oipx8012pxio



iii.oipx8012pxio
iv.0ipx8012pcio

1. 1v

2.1

3.1

4. il

Correct Answer :-

e iv

30) Find the average. / 3ea fAerferd|

74,79, 84, 89,94 & 96
1. 87
2.82
3. 86

4. 84

Correct Answer :-

Topic:- Science and Simple Arithmetic

1) Simplify and write in the exponential form: (35 + 39F x 3-¢/ (37 + 399 x 3-9 &l T H{ HT
TETdRT &9 # ford |

1. 314

2. 325

3. 3-26

4, 316

Correct Answer :-

. 326



2) —

F 22 = [225
Given that v2 = 1414, evaluate: ﬂl;‘: | afg Gar g V2 = 1.414, A ﬂl;‘: & AT
[GCRICLH

1. 1.515

2.1.235
3.2.225

4.2.115

Correct Answer :-

e 1515

3 (x+oyp-72xy=
(@x-9yp
1.
(2x-Tyy
2.
(2x+ 7y
3.

2x-13v)

Correct Answer :-

4)  In the adjoming figure, if #ABD = 62° and #BCD = 34°_then #/BDA = . / f2U 7w &7 #, ofz
£ABD = 62° HR .BCD =34° B.dT «BDA=__ |

1. 82°

2. 84°



3. 68°
4.76°

Correct Answer :-

. 84°

5) In the given figure. AB || CE and if ~ACD = 130°, ZCAB = 56°, then #DCE = ./ feo e A=
#, AB || CER 3R aft zACD =130" §, 2CAB =568, dl «DCE= |

1. 1249
2. 116°
3. 949

4. 1069

Correct Answer :-
. 106°

6) Find a number whose double is 84 more than its half. / 98 ST JTd Crarcal Eﬁ'[FIT 3'\‘1%7 Y |
84 3T 31

1.72
2. 56
3. 64

4. 48

Correct Answer :-

e 56

7) If the lengths of two adjacent sides of a parallelogram are Scm and 6cm, respectively, then its

perimeter is: /uﬁwmﬁﬂﬁﬁﬁmﬁwsﬁﬁmm 5 . aut 6 AW §, @



muﬁnwzﬁm
1.32 cm /32 T
2. 11 cm/ 11 9.
3.22 cm/ 22 9.

4.36 cm /36 TH,

Correct Answer :-

e 22cm /22 A,

8) Which of the following is NOT a fossil fuel? / A= o 9 = Shary éi‘FT qﬁ%’?
1. Coal / BT

2. Petroleum / ﬁ?jﬁaﬂ

3. Natural gas / Wﬁg
4. Wood / FIEIFS)[

Correct Answer :-

. Wood/?laﬁof

9) Which of the following does NOT use magnetic effect of electric current? A ﬁ?ﬂ?l HURT

& DI YUTT BT SUANT T81 Ha1 8?2
1. Electric bulb / fagad ded

2. Electric motor / ﬁ_g{qﬁ e

3. Electric bell / ﬁgqﬂ get

4. Electric fan / ﬁgqﬁw

Correct Answer :-

« Electric bulb / [dgad ded

10) Two cubes, each of volume 216cm3, are joined end to end. The surface area of the resulting cuboid

will be: / T 216 BT THY. AT & & T, TP gak I RRT A 3 7 | aRomdt w91y &1 et
AAGA gRI:

1. 360 cm? / 360 971 JHT
2. 640 cm? / 640 71 94T,



3. 520 cm? / 520 971 94T,
4. 420 cm? / 420 T I,

Correct Answer :-

e 360 cm? /360 I I

11) Granulated Zn when treated with sodium hydroxide gives: / @MER Zn ®I 99 HifeaH
TI3SIITSS A YT fHaT SITdT 8, °) U8 e Hedl &:

1. Zinc oxide /ﬁrﬁﬁ m
2. Sodium zincate /mﬁlﬁﬁ
3. Sodium hydride / I STH EEIRS

4, Zinc hydroxide/mgﬁsﬁﬂﬁg

Correct Answer :-

e Sodium zincate /mﬁlﬁﬁ

12) Cutting and piercing tools are made sharp to: / PTeA 3R AU SUHRT gﬂm Heor fHa wd 8
1. Increase the force applied / T T §d ﬁaaﬁ

2. Bring about change in the speed / TIfd # uRad= a=

3. Reduce the area and increase pressure / &9 BT HH HA 3R TF Eﬁﬁ

4. Increase the area and decrease pressure / & Eﬁﬁ 3R T HH B

Correct Answer :-
« Reduce the area and increase pressure / &9 BT HH HA 3R TF Eﬁﬁ

13) What is the smallest number by which 875 must be divided so that the quotient may be a perfect

cube. / 875 B DI A DIt DI A TBAT I YT fear ¢ {5 yrTwa gof o= 5t
1.7
2.5
3.3

4.9

Correct Answer :-



14) Component of an electric circuit that turn off automatically when there is an overload or a short
circuit are called ./ 919 TS ARIYR T AYUY gid1 § a9 fagad uuy 7195 ued ol
I U | dq g1 SITell 8, e ¢

1. cell/ ITd
2. miniature circuit breakers /<Y URUY Holh

3. compact fluorescent lamp / Jgd gfadia am

4. ordinary electric fuse / MY fagad WIS

Correct Answer :-
 miniature circuit breakers /<Y IRUY HH

15) In reflection, the angle of reflection is equal to: / R ﬁ, WRIF ST _% T ghan %:
1. One-fourth of the angle of incidence / TJd I BT W—Eﬁ?ﬂé

2. Double the angle of incidence / ATUd DI Bl aﬂ:ﬂ

3. The angle of incidence / U P07

4. Half of the angle of incidence / 3TUd" DI0T BT T

Correct Answer :-

« The angle of incidence / TUdT P07

16) The quotient obtained when (2ax” - 2ay?) is divided by ax — ay is: / (2ax? - 2ay?) P ax - ay " YT
¢ W UTW HRTHS RI:

L. a(x +y)
2. (x-y)
3. (x+y)

4.2(x+y)

Correct Answer :-

e 2(xty)

17) The simple interest on a certain sum of money for 2 years at 10% per annum is Rs. 240. What will be
the compound interest on that sum at the same rate of interest for the same period? / Y i emfR



X 2 991 & forT 10% a1ftfe SaTer BT T U= JTYTRUT TSI 240 UL 8 1 5T YARTRT U JHH TSI -
TR UM 3t & fore aepgfs sars a1 g

1. Rs. 252 /252 S0
2. Rs. 264 / 264 ST
3. Rs. 266 / 266 ST

4. Rs. 248 / 248 3UY

Correct Answer :-

e Rs.252/252 300

18) The weights (in gms) of 20 oranges picked at random are as follows: 118, 124, 98, 69, 72, 204, 115, 70,
84, 123, 82, 107, 136, 90, 81, 79, 76, 110, 130, 125. The range of the above data is: / TE[® ©U A IS
TR 20 o) & HR (AT H) A §: 118, 124, 98, 69, 72, 204, 115, 70, 84, 123, 82, 107, 136, 90, 81, 79, 76,

110, 130, 125 YUY SATH S| BT U SHIT:
1. 148
2. 135
3.114

4. 128

Correct Answer :-

e 135

19) Mathias Schleiden and Theodor Schwann are renowned for their theory of: / Afarg ﬂﬁg@ﬁ[ G

Y3 4T v et Rl & g i €
1. Big bang / fSRT &7

2. Origin of life / STta- &1 AT

3. Cell / DRI

4. Evolution / hTH fdbra

Correct Answer :-

. Cell/ PIRABT

20) To which group of microbes do causative organisms of malaria and Kala-azar belong? / H\&ﬂﬁﬁﬁa?

e TqE T gafvar 9UT HTA1-30R & FRE oitg Faftd gid 82



1. Monera / HIFRT

2. Fungi / ddh

3. Protozoa / HTCISIST
4. Nematode / HHTCIS

Correct Answer :-

e Protozoa / Fh_cPITrﬁGﬂ

21) Which of the following cleans the atmosphere of many of its pollutants? / ra H ¥ P draRuT BI

ISP Tgd A US| A TP ST 872
1. Wind /YUdd

2. Hydrogen /EB?';ITTFI

3. Oxygen/G{vlaQ:ﬂG:f

4. Rain /a9

Correct Answer :-

. Rain/a'lsl‘f

22) Deforestation causes soil erosion faster because: / gl 31 ﬁ'lg I Hal UgA T | CEASIGLH %,
Fiif:

1. Roots hold the soil firmly / TS Jal &I T@algd® THadl & |

2. Roots provide nutrients / G@W dd UaH &HRd %"I

3. Roots absorbs water / \_ﬂ@aﬁa’ﬁ mﬁﬁmal

4. Roots absorb minerals / Gfg“@fﬁ?ﬁa’ﬁ Wﬁﬂmgl

Correct Answer :-

* Roots hold the soil ﬁrmly/ﬁ%ﬂaﬁmqﬁﬁ%l

23) Ploughing makes the soil to be . /\_rﬁ'a""IT, Hal o) CRIGI %I

1. removed of weeds only / TRUAIRI Had

2. upturned and loosened onIy/G@T‘ﬁGﬁT?‘.ﬁET

3. aerated and easy to manure only / 8dlglX @TW%%‘N ST
4. All the above /B'q?iaﬂﬂﬂ-ﬁ



Correct Answer :-

e All the above /B'Cl?iaﬂﬂ'l-ﬂ

24) Leucocytes are called white blood cells because: /W &1 Xad Iad a?fﬁla?nz Dl SIldl %, 12
1. There is no specific reason /aﬁéﬁmwﬁ%

2. They fight diseases / CEIE ?I@'fcﬁ %

3. They appear like milk drops/%@ﬂ%@?{a@%@?ﬁ%‘

4. They are colourless /%szﬁ:I a?ﬁ %

Correct Answer :-

e They are colourless /a8 g Eﬁ?ﬁ%

25) Contractile proteins are found in: Wﬁﬁ uﬁe‘ﬁs'aﬁum EIG) %

1. Blood / Xdd

2. Bone /3

3. Cartilage TRy
4. Muscle / OfRraf

Correct Answer :-

« Muscle / URR[T

26) Which one of the statements is FALSE about the effects of deforestation? / I -a" &
YUTA & IR H 91 T 9 Hy= | | B A1 U Tad 72

1. It results in the lowering of ground water. /39 GRUMH ¥ YA o HH =1 81 ST B

2. It increases temperature and pollution levels on the earth. /48 Gl TR ATUHM SR TGN WRI B IGIdT

g
3. It increases the level of CO; in the atmosphere. / T8 dgHSA | CO> P TR P deldl gl

4. Tt increases the level of O in the atmosphere. / TgaGHSd H 0, & TR &I TgIdT ¢ |

Correct Answer :-

« Itincreases the level of O, in the atmosphere. / TgdIgHS A e (o)) & TR P deldl gl



Select two non-biodegradable substances from the list of substances given below.
Waste paper, silver foil, tea leaves, DDT, leather shoes, woolen gloves

/ TR fow U verT &Y = # A §) e fieroiuuaryf o1 3w 31
TE) PRI, IS BT g, I &1 ufvr, SIS, a0s & o, S g™

1. Waste paper, leather shoes R_Effm, %r”m“rmaéi
2. Tea leaves, woolen gloves / ET\I’_pr Gal ﬁ,ﬁ mﬁ
3. Woolen gloves, leather shoes / 3‘1@??[, T-,p:@; & Gj\?f
4. silver foil, DDT / TTd} BT IP, SrSIct

Correct Answer :-

« Silver foil, DDT / Ifal &1 b, Siatct

28) In arectangle PQRS, the diagonals meet at 'O'. If OR = 5x-1and OQ = 2x + 5, then x = ./

TS 3Mad PQRS ¥, 39% fawvf fig o mAma g1afd oR=5x- 18R 0Q=2x + 58, dtx=__ |
1.3
2.4
3.2

4.1

Correct Answer :-

e 2

29) A shopkeeper buys an article for Rs. 500 and marks it at 20% above the cost price. If he sells it
at 14% discount, then his SP is: / T® gHTIGR TP a&g DI 500 TUY T ¥™iedT 2 iR 30 a1 Siad
& HW 20% TR Sifpd Ha1 31 i 98 3 14% T W 99T 8, dY SIS fasha Teu ghm:

1. Rs. 524/ 524 3G
2.Rs. 516/ 516 30
3. Rs. 528 / 528 ST

4. Rs. 518 /518 3UY

Correct Answer :-

« Rs.516/516 300

30)



The area of a trapezium is 416cm?. If the height and one of its parallel sides are 16cm and 20cm,
respectively, then the other side is: / U JHEd BT &TH 416 911 HY. g1 Gfe TP SaTg 3R
D! TP GUTAR YT HHRT: 16 AT, T4T 20 . §, o gt Yo g

1.32 cm /32 THY.
2.24 cm / 24 T,
3,28 cm /28 IHI.

4.36 cm /36 TH.

Correct Answer :-

e 32 cm/SZQTﬂ.



